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Structure of this paper

Number of Number of Suggested Marks PercentageSection questions questions to working time available of examavailable be answered (minutes)

Section One:
Short answers 15 15 55 70 35

Section Two:
Extended 7 7 70 90 50
Answer
Section Three:
Comprehension
and Data 1 1 25 20 10
Analysis

100

Instructions to candidates

The rules for the conduct of Western Australian external examinations are detailed in the Year 12
Information Handbook 2013. Sitting this examination implies that you agree to abide by these
rules.

2. Write your answers in this Question /Answer Booklet.

3. Working or reasoning should be clearly shown when calculating or estimating answers.

4. You must be careful to confine your responses to the specific questions asked and to follow any
instructions that are specific to a particular question.

5. The " Formula and Constants Sheet " may be used as required.

6. All final numerical answers should be expressed to three (3) significant figures and include the
appropriate units.



PHYSICS 3A SEMESTER 12013

Section One: Short Answer [70 marks or 35% of total]

Write your answers in the spaces provided. Where appropriate show all working.

Question I

A helicopter is flying at a constant height above the ground. The helicopter is carrying a crate
suspended from a cable as shown.

The helicopter flies 20 km south. It then turns and travels south-east for a further 30 km.

(a) Determine the magnitude and direction of the resultant displacement of the helicopter.

ao

a
22 - o fi 30 aO x 30 eos 13S [4 marks]

R2 = a• \Lk^ x io7

--2V\n O

s,^O _ Ski i35

0 kk b."k
So 4 = a'l - a0 Oi

O
(b) The helicopter takes 15 minutes to complete the journey described above. What is the average

velocity of the helicopter? Give your answer in units of ms-'.

IT
S _ lkb.^

L) as

n
_ tQ io . VVN V ., v [2 marks]

Sa-'

sums sang°a

0

SEE NEXT PAGE
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PHYSICS 3A SEMESTER 12013

Question 2

A student is unable to loosen a nut by using a wrench. The student then attaches a pipe over the end of
the wrench as shown in the diagram.

0

Using the principles of physics, explain why the student is now able to loosen the nut.

^itn_ ^n^^te c'c -eqcFt-J-
[3 marks]

0
-1-0 4L.s- '0<,t kAkf\VAQ- 4L,,1- -q otic2, is o,Pp1,9- w,tt

0 pcociuc^ o to Q( kOcc) Qasto c ^o loasev^ -kt,q, r1ukt

O1i 4a pYodtkcR- sIrv, oM -Q. okLQ-

w tll tQ (QO1ul^1Qc

Question 3

The single rectangular loop of wire shown below is being pulled out of the 0.50 T magnetic field at a
constant speed.

An EMF of 0.60 V is being generated and the length of the side '("is 0.30 m.

Q,^ t^nc t^s^ -Fk&L C((s-k o V, cam . o v,r, 4V\D- p tJ nt

%Z/ X X
B

What is the speed of the loop and what is the direction of the induced current through the resistor?
^^

iv\Ajfej-^ Ef\-\F = N . t. l 1)
[4 marks]

0.60

0-3o xo-so

JA

_I

&,X' 9- , U,,tl fskow. B -^ A 0
l

0

^CIvcFGwiSe, F^nt^vo^^
l0o^ )

SEE NEXT PAGE
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(g) Use the gradient to calculate an experimental value of "g'. Give the final answer to 3 significant
figures. ,^ z 2

P
_ IT m 'C 4 Ut M, `C' 1 l [3 marks]

06

-2-
Lk I T t ,V

2
Z x

0

o. O X 0-2-0

0

(h) Comment on the accuracy of the value obtained for "g".

-calo,-+Ive,l,. e,los¢, +0 2Xpe-cFo^.
_-v

vveve . o. q-2o m-s

End of Section Tkree

0

[1 mark]

SEE NEXT PAGE
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PHYSICS 3A

(d) To obtain a straight line graph it is necessary to plot PI against 1/m2.

Complete the following table.

SEMESTER 1 2013

mz
(kg)

1 /m2
(kg-1)

Average period
P (s) 2 (s2)

0.020 so

0.040 aS l . os i • to

0.060 llo. 7 O rlq d' t'aw

0.080 12 O • 1k(j T
O

(e) Plot a graph to show p2 versus 1/m2. Use the graph paper provided.

Show p2 on the y-axis and 1/m2 on the x-axis. Draw a line of best fit.

a "A 9--S O oA Cu.Ko tom, o plo t

O l^v,0 0^ be.Sj fs

O

(f) Determine the gradient of the straight line obtained. Include the appropriate units.
RISQ. RISQ

^'<^O•L 1QM_ l = I L^'1 OC^lQM l
{""v vV

1.00

ti
Ik- 0, 0 x to

^YfA^ll2^l tv-, YAtnq

RV V,,

[3 marks]

[4 marks]

[3 marks]

3S

14 t v l0

_a
Z^D x to -

'l-
0X 1o

LA v,, I^

0

PHYSICS 3A

Question 4

The polar-orbiting satellite NOAH-N was launched in May 2006.

SEMESTER 1 2013

The satellite is now orbiting in a circular orbit above the Earth's surface at an altitude of 870 km.

(a) What is the orbital speed of the satellite?

A) _

[2 marks]b
= `a5 >c t0 C,(\la, Q 4- `c3rta x10

-itGMe lo, r,7 x tlox S °1^ xt0 q

(b) Calculate the magnitude of the acceleration due to gravity at the satellite's altitude?
-It atk

b • Io'l x t o >C S' °t rl x to n [2 marks]

l• a5 x o ) 2

3 _t
`1•^- '10 rr^S

O

O

0

The diagram below shows two circular paths around the Earth. Path 1 is not a possible satellite orbit.
Path 2 is a low-altitude polar orbit.

Path 1

(c) Explain why Path 1 is not a possible satellite orbit.

Ail S&rQ.II ^PS must ov4^t^

Path 2

o^co nck tAQ, ee,f\,*`t4__
O

- -^1n4. 9 o^J t4o Ctov\gl r5 u4(Q

-llna., C^,^^y i p Q c^ l O1. CQ

tvs o skalele. o b -

K2

o., 4t,^ Sok^tltk co'ttdQ.s

tne^d.eA -Fo kee -4t - so: gUt< -

[2 marks]
SEE NEXT PAGE SEE NEXT PAGE;
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PHYSICS 3A SEMESTER 12013

Question 5

A strong horseshow magnet of mass 264 g is placed over a metal rod which has a mass of 35.5 g.

Thin wires are connected to the ends of the rod and a current of 225 A is passed through.

I

The magnet just begins to lift upwards.

(a) Assume that the magnetic field between the poles is 4.00 cm wide. Calculate the strength of the
magnetic field.

= W

LL-9 = M%
0

[3 marks]

g _
^__ - o • ab^-( x Q • `^

^^ a2S x ^•^^ 0

PHYSICS 3A

Trial I Trial 2 Trial 3

SEMESTER 1 2013

Average

mass m2 ( kg) Period P (s) Period P (s) Period P (s) Period P (s)

0.020 1 .40 1.38 1 .42 1 • k-1VQ

0.040 1 . 05 1.06 1 .04 t . O5

0.060 0.79 0.80 0 .79

0.080 0.73 0.75 0 .75 O . ^3

(a) Which two important variables were controlled in this investigation?
(2 marks]

Htvaniable
SOVf Q' -(o4: tuS

0
SOL Vy^JQ, mas f'rl

2"d variable Sa",Q^ Sur^UCSt ^= Sow e3 ^^^^^^n^^O

(b) Is it appropriate to include the values of the period P from all three trials when finding the
average period P? Explain your answer.

[2 marks]
`f ^s - Flues cQ_sLLft O

0 0 ^o^l P^ c In d o as s th C.J Q. ve c i o v^ s tS^ Y^n^

0
IQ- -V\D-' Q^ 0,-( Q- VA0

(b) What is the direction of the conventional current flowing in the wire? Show your answer on the
diagram.

",-\+O +kQ- lp a u

10 LA-+k X U<-C' t v, --tom cA l cam

[1 mark]01 (c) Determine the average period P. Write the values in the last column of the data table.

p( 1tca^^ l^ lE^} AS Or L^LOgK0.YY\

[2 marks]

C

SEE NEXT PAGE I SEE NEXT PAGE
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PHYSICS 3A SEMESTER 12013

Section Three : Comprehension and Interpretation [20 marks or 15 % of total]

This section has one ( 1) question which must be answered in the spaces provided.

Question 23

Read the following information very carefully and then answer the questions which follow.

ESTIMATION of GRAVITATIONAL ACCELERATION

'vJ n ^^4.-t W

(a) Label each of the forces represented by the black arrows.

[1 mark]

An experiment is performed using the apparatus above. A small disk of mass mi on a frictionless table
is attached to one end of a string. The string passes through a hole in the table and an attached narrow,
vertical plastic tube. An object of mass m2 is hung at the other end of the string.

A student holding the tube makes the disk rotate in a circle of constant radius r, while another student
measures the period P.

The relationship between these variables is given below:

P2 47r2m1r

gm2
(Where g = acceleration due to gravity)

The procedure is repeated, and the period P is determined for four different values of m2, where mi _
0.012 kg and r = 0.80 m.

Three trials were performed for each value of m2 used.

The data obtained is tabulated below.

(b) Explain the advantage in "banking" the surface of the road.

4{r.4, CM rr>oQ Q_S 0.YOV Lam. 4U-Q- cuYU 2, ivy A,&, [3 marks]

X00A O.- cev\tc^petaI ^o'kU- ^rc = m2 wrtl ^e Y^qutceal .

JO ^n tat Su`c^a LQ- 41nis panto pe^to-l iO Caw o^nl b

p(OU t &€& 4U,9- Std,e.wo,-',' LC,ttQv-\Al Lo'ku- beitwoe^ 4lAQ

q- `(oo,d„ suc^o cl^ - +r 5 rt \LQ. tS vA*cto_Uc Q- ole.Petnoltw

ov AU'a. N bad. Ce v^dttt ov^S OTC O

B^ bovkt"t - -10-J- , as 0,V" LAV,,a(Q- l4 ^k9- 10 V\ ^o-1 CS

W M t\cU2. 0 Vn0-(k'2/0 a1 Cu "'p, ou2 v,^ ^R ebc 19 acts
Oj

- -o J a^ *S -R& C P^^^ o +V.9-

V\0

ts § n c cst Cct v`

w NovtA:Q^ NASZ. (QotA\4.Q. 1, ew.^^ctpetal ^OXL9

PHYSICS 3A SEMESTER 12013

Question 6

The diagram below shows a car moving around a curved bend in a road. The surface of the road is
banked at an angle 0 to the horizontal.

SEE NEXT PAGE SEE NEXT PAGE
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PHYSICS 3A SEMESTER 12013 PHYSICS 3A - SEMESTER 12013

Question 7 c) If the magnetic field changes at a uniform rate, sketch a graph to show how the EMF induced in

Patients are normally asked to remove metallic objects before being MRI scanned. the coil varies with time during the 0.35 second time interval.

A patient in a scanner is still wearing a ring of radius 7.5 mm. The magnetic field in the scanner is Etr
0.52 T. (V)

(a) How much magnetic flux passes through the area of the ring when the ring is held perpendicular O
to the magnetic field direction? _ 2

O
\ 2 0.

l - s ' - 1 , 1 = t' o { x 10^ M b3.1

-4 o
^A = 0.52. x I.n^1 X10

-5
G•1a X 10 WnD

O
0-SS

(b) The magnetic field of the scanner is reduced to zero in 0.085 seconds. Calculate the EMF that
can be induced in the ring. _S
L4 = 0 ,6-- rf I = 'D - °l • 1 ^l x to = '- `^ t l^l X ! O [2 marks]

_3
+ \-09, x\o \J

O

(c) A ring with a different radius would have a different EMF. State TWO other ways in which the
EMF in the ring would be halved.

IIt way cL -oL&b\-Q- -R ^ +cv,.nQ- + ^c 0

2nd way Ir^o 1 V Q^ -R Q^ S^ ce,no^^ln O^ 42Q^ mo,a'v'&JIC SXQ't 1,

[2 marks]

SEE NEXT PAGE

0

End of Section Two

[3 marks]

SEE. NEXT PAGE
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PHYSICS 3A

Question 22 [Total = 9 marks]

SEMESTER 1 2013

The "Before " diagram shows a coil at one instant in a changing magnetic field . The "After" diagram
shows the same coil at a slightly later time.

o s e t n n e i: a B i

O 8 t @ O r 4 • O C

t 9 4

Before

1 [2 marks]
Sk^Q^v,^F1\ 0 ^^Qic ^\o,S ^4c(e9S'Qd

a) Has the magnetic field strength increased or decreased during this time? Explain the reason for
your answer.

O
Xv2 ^1ux 1tv^QS qf^ ^^^rl,p,( o ^o.t^ l

b) Use the information in the following table to calculate the EMF induced in the coil.

Coil radius = 0.15 m

Number of turns = 250

Initial field B; = 1.50 T

Final field Br = 0.25 T

Time taken = 0.35 seconds

2

A = -T- c =

BA =

a m I _

"2- - 12- O 14 marks]mif X o•t5 = rl • Uri x k o

t•^o x 1•o' x102 = 0-ko6 Wb
flt^7 tnlb 1b•`a5 x ^1•o i x toy - 0

1^1 C\

Lt

^So

After

O o $ In i1^

C- o. 09, o3) O

+

o ^S

to3.1 V

PHYSICS 3A SEMESTER 1 2013

Question 8

A girl of mass 25.0 kg is hanging on to a rail on a carousel (roundabout) of diameter 5.00 m. The
carousel takes exactly 2.00 seconds to spin around once. The girl can hold on to the rail with a
maximum force of 255 N.

Will the girl be able to hang on, or will she be forced to let go of the rail? Justify your answer with an
appropriate calculation.

dnr aTr 1s , 5 0 - Iri•`81v erns
rt

11..

`> V\ CQ,

`a5 x '1.2b

0 a 5

4

[4 marks]

u" AXtVVIU UV(\ ^ O\( C.Q. C-
> r - s N Sln4^ Wl[[ V\PP

-R' 0 1Q t ao .

Question 9

Susan states that there is no force due to gravity acting on the International Space Station (ISS). She
says this must be so as she has seen television footage showing astronauts and equipment floating
around in the spacecraft.

Rose states that this is a common misconception for orbiting spacecraft, such as the ISS.

Using the principles of physics, help Rose convince Susan that there must be a force due to gravity
acting on the ISS.

^tno sa^^111^^ is [1 w, lnly. ^t^ tc 1t1n1S [3 marks]

^Ygvl^o^lo,ngl fslelc]l I'IA. °d1o.VAoJ1ov\A.t so't1Q_ ptioJtdgs

Lst. e, ^ e^ petoJ O t cn. g4j,,. ^O-,^ 4kA-Q- k SS 1o Mo WAo hr
q S{gto14 oVtol l o vJ, 4W- Ex-ti V,

O

flnn (Q- tr\us^ tce o- . e:cut, d,t)Q, -to ca So t^ aGf von

Avti -^l^L t SS ,

SEE NEXT PAGE ^^ ^^ SEE NEXT PAGE
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PHYSICS 3A SEMESTER 12013 PHYSICS 3A SEMESTER 12013

Question 10

A sprinter is shown before a race, stationary in the "set" position, as shown in the diagram below.
Force F is the resultant force on the sprinter's finger tips. The reaction force, Y, on her forward foot is
180 N and her weight, W, is 520 N. X is the reaction force on her back foot.

(c) By taking moments about a suitable point, calculate the tension in the supporting cable.

i akt v^ c^ mov QAnts abo A± (D [5 marks]

z c t,J

^w
- t sty b b 35

3 t st^2b 6)
( s x >o x g 3 X to) + ^qqo X \o X x

11 = ISttn `ab lo^ 35
^k• ^kl X t0 + `q Stkl^ x 1C7 (-T

L-T• ft, l.b• b) 35 0rl•OI^^ xtO
I

,1 • 9%7 x 10

5 tv` ^) - 6 X I S (D

O

a) By taking moments about her finger tips, calculate the force on her back foot (X).

-Takk_v\ od ran TAD-AA^s 0-60-t P
£& A = I (J L' t d

[3 marks]

O

544 x 10

(d) What happens to the tension in the cable as the truck moves further to the right along the
platform? Explain your answer.W X 0 - a. = (`I X 0 fit) $ (X x 0 -63)

t35 • a = ''1' + O • b3 X

IQJ x =

b) Hence, calculate the magnitude of force F.

V7 v i> = ck v, O
t t ^o + q `l • 5 = S &O (D

^ ^ F = Salo - t $O - q7 • s

F =

O

i o Y . 'no.iv tv\ Rsut^ tID`lty w\ [3 marks]
1 I ew <,"AG,d

lN\nOtA t o {YUCIG MOV Q-, io N I^^^^r et^l oco^ve,

O
WtU tt/vc -PASQ- ( Io.`100 Q\C C )

[3 marks]
St to W

SA V\/^,e

ko%otvQ. Musk cdSO t vtc,xQASQ-^ 0

q dts^atncp {o ^L^ P\uo^ ON 9- -F^&O-

^\nQ) -I-\&e { 12u StOV' t^tll tV '(^o sQ .

0

SEE NEXT PAGE I SEE NEXT PAGE
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PHYSICS 3A SEMESTER 12013

Question 21 [Total marks = 13]

A particular structure consists of a concrete platform PQ attached to a central pillar by means of a very
strong cable as shown in the diagram below.

central pillar

Q
w^u^^,^ w O

(a) The structure is in equilibrium even though there are three forces acting on it. Draw and label
these three forces on the diagram.

[3 marks]

The diagram below shows a heavy truck moving along the platform. The distances (in metres) from the
central pillar are shown on the diagram. The centre of mass of the truck is at the 10.0 m and the
platform extends 35.0 m from the pillar, the top of which is 17.5 m above the platform. The platform is
uniform and has a mass of 440 tonnes and the truck has a mass of 45.0 tonne.

central pillar

(b) Calculate the value of the angle ^.
t1. 5

so

O

PHYSICS 3A SEMESTER 12013

Question 11

Two similar bar magnets (A and B) are arranged in a number of different ways as shown in the
diagrams below. In each case the distance d is identical.

Arrangement I

SI
B

Arrangement 3

In Arrangement 1, Magnet B experiences a repulsive force of 5 N upwards.

(a) In Arrangement 1, what is the magnitude and direction of the magnetic force experienced by
Magnet A?

S iV &0"Vnw o.'l d5 O

[1 mark]

(b) What is the magnitude and direction of the magnetic force on Magnet B when it is below Magnet
A as in Arrangement 2?

supporting cable [1 mark]

[2 marks]

5 cJ do w vew"CI 5
O

(c) When Magnet B is to the left of Magnet A, as in Arrangement 3, will the magnetic force be
attractive, repulsive or zero? If non-zero, do you expect it to be greater than or less than 5N?
Give your reasoning.

mo.^iatkr ^o-cLQ, W'11 1^-Q o H o'ct^y^ O [2 marks]

*otcol So"cL

Arrangement 2

S +S loIJ

SEE NEXT PAGE: SEE NEXT PAGE1
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PHYSICS 3A

Question 12

SEMESTER 12013

The helicopter shown in the diagram below is moving horizontally through still air. The lift force from the
helicopter's blades is labeled A.

PHYSICS 3A SEMESTER 12013

b) Determine the vertical component of the Earth's magnetic field near Albert Park. Include the
direction.

B U = gQ- . s" & 0 [3 marks]

SS•`,^,ttit )

c) Calculate the EMF which would be generated between the tips of the wing on the racing car.

P l a,v-\
'A

22.E -A - x S• IS x to S

a) Name the two forces B and C that also act on the helicopter.

0.k\t "(2S1S^O V\CS.

dL`L^

b^ x
U

to x sty. io (
0

5•^^ x tt^ "T'

N. -L. B

-3
rl L x to V

d) Which end of the wing ( as viewed by the driver ) would be positive? Explain how you
determined your answer.

0

[2 marks]

b) If the helicopter is moving with a constant velocity, what is the net force acting on it? Why?

Q,O"SCA-^ v^.l.ur-al 74 5, = 0 [1 mark]

-F .A.. j -t rrso,(U Must b

c) The lift force, A, is 9.5 x 103 N and acts at an angle of 74° to the horizontal. Calculate the
weight of the helicopter.

v o.'( k C \ Cry vv. pn^o^^,^
o-j tt&-t

A s k '`( tk

W, UJ =
3

°1 t3 x t0

0

0

[3 marks]

SEE NEXT PAGE

we.t064,k

Ty\ = W

q•S xto3 x stw

F

0
[3 marks]

0

0

0

[3 marks]

v s t "wt RIA Nuke-

vQwac O s

Fln4^ `c tit +r :

tN ill b-Q- pos\ktu8

0

SEE NEXT PAGE
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PHYSICS 3A SEMESTER 12013 PHYSICS 3A SEMESTER 12013

(f) Calculate the period at which the Ferris wheel must rotate if Bonnie experience
"weightlessness".

S o A?-

%- - t3 0 °t ms

_Tr x A'7 • S
N i3•flq

Q

O

H- 'o sec.

0
Question 20 [Total = 11 marks]

[3 marks]

Formula 1 racing cars have a wing above the rear wheels that causes a downwards force to aid
traction. The wings are often made of graphite, a form of carbon that is a conductor.

A car with a 2.2 m wing is travelling south at 228 kmh-1. Assume that the wing is electrically insulated
from the rest of the car.

Question 13

A transformer as shown in the diagram below is being tested. The primary coil is connected to a battery
and switch. The switch is initially open and no current is flowing in the primary coil. An ammeter is
connected to the secondary coil and initially shows no deflection. When the switch is first closed, the
ammeter needle is deflected to the right and then returns to its initial position of no deflection.

transformer

DC supply

switch

(a) Explain why the ammeter deflects when the switch is closed and then returns to the un-
deflected position.

Clo ^tvu> Kn4 Sw tEc In - C& " tV-, JLv- pv trr,QX

o'JQX O.,

Cov\Stn,v,^ Vq(v^ O

-Hn9_ vY^Onvl4.tlC^

st e lrL 1: C(o v v\d.^ -FLA. Qti t uv\ o\•c t ( w t 11 he t vtc (¢A s t

cLuxt Ants ^trne^ 4- So ^1n4 ( wt11 b2 0^ cV\o,tnj?Nt'.

%v\ ^^oo^tn0i^lc fstu< (D^7 g So N Cu(t2Aft vi t11

tvvduGed te- - p(ivy^gC t Crot1

Albert Park in Melbourne is the site of Australia ' s F1 race; the Earth' s magnetic field here has strength
of 60 µT and an angle of dip of 67°.

a) On the diagram below, show the flux lines of the Earth's magnetic field in the region of the car.

[2 marks]

Nai L -}ln-

byte-A ,v- V(NQ 1 0j *t vY\ k-

Swt^Cln, d.d wvs 4L&n., tS v\O

( ) c- t^r^ c CnF w tLl bQ tv d oC.Q L

Co t l a v n vv^t6_Y w t ll (8 awl 'LIL C t7 .

^I\OLP 2 tv, s1UX
O

tv, t tj S2CO VtCIo (^1

[3 marks]

(b) The switch, which has been closed for a short time, is now returned to the open position and
remains open. Which one of the following best describes what happens to the reading of the
ammeter?

[1 mark]

Ground

Racing Car

A It deflects to the left and stays in this position
B It deflects to the right and stays in this position
C It deflects to the left and returns to the middle position
D It deflects to the right and returns to the middle position
E It does not change

C- 0

SEE, NEXT PAGE r
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PHYSICS 3A

Question 14

A horizontal beam is held in position by a rope as shown.

SEMESTER 12013

The connection point on the wall is moved from location X to location Y to location Z. Assume the
length of the rope is adjusted to keep the beam in a horizontal position in each situation.

PHYSICS 3A SEMESTER 12013

Another familiar ride at the amusement park is the Ferris wheel.

The wheel shown in the photograph moves in a vertical circle with a radius of 17.5 m and with a
constant speed of 9.05 ms-1.

(c) How long does it take the wheel to complete one full rotation?

Which of the following best describes what happens to the tension? Write the letter corresponding to
your answer in the box.

A: Tension increases
B: Tension decreases
C: Tension remains the same
D: Tension increases then decreases.

Justify your answer.

-ctna. C,w +d-c^uO- eve0.-^LO b-6

4t\ b A 'e Y Q -V'4\ o 1 v\ S W vti.ST a v\^

[4 marks]

4,0- R C,,J 4 o-^q vQ CA Qk- bI^ k\ 'cope. C \tt , -

o,.S'D vQ..+i`rlo,Ir\ eov,aI-, +.CoV'5^o'V-t

ACuJ - NG'.Q =

1 =
4ovgve, 1

Siva B

O
. as Stv, e c^2^X 2ASeS {Lem *,e,v`, stow W I11

^7 51v, 9).

T

R = m°d - rnv U
[3 marks]

Bonnie, a passenger on the Ferris wheel has a mass of 57.3 kg.

(d) What reaction force does she experience when she is at the highest point of the Ferris wheel's
circular path?

So

t`-t• S

I 5-1 - S <q-oj
(57 - S x q - '0 -

`arrr
Ar

OI [2 marks]

t 2 • S .CO ends

0

t'7•5

R _ `a °t3 x to r^ vpwo cots

0
If the Ferris wheel rotates fast enough then Bonnie may experience "weightlessness " as she passes
through certain parts of the ride.

(e) What is meant by the term "weightlessness" and where on the ride will she experience it? Why?
I, //

We^^^}I Sr^SLSS - SQ-V\ SaA 1n 3 -, o,^ vti,o-t l [3 marks]

2>s pe (\Q v, c,l vva^ 11^ `(.¢ o,ckux v. o`( (SL Ov, 41,S 6oci

_ C't\ UL
A^ tok o^ gtr e P, = rno^

r
O

O rnc^ _u^ ^lnr w = ®

SEE NEXT PAGE SEE NEXT PAGE
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PHYSICS 3A

Question 19 [Total marks = 16]

The photograph below shows a roller coaster ride at an amusement park. The roller coaster wagons
can move along the track safely as long as high velocities are maintained.

PHYSICS 3A

Question 15

SEMESTER 12013

A step-up transformer is used to convert a voltage of 1.50 x 104 V to a higher voltage of 3.00 x 105 V.

The primary coil has 2000 turns. Assume the transformer is 100 % efficient.

a) How many turns are in the secondary coil?

2
lt^ss o 2tlox^^ d ^z kru t2sis^1V^ ham t,v C z R^

5 O

[2 marks]

3•0o >< to aOO©

t- So x 10

x

4' 0-3 l'J 0 0 fi t.L c u> ; O

b) The power supplied to the primary coil is 6.5 MW. What is the size of the current in the
secondary coil?

SEMESTER 12013

The track shown in the photograph is circular in shape and has a diameter of 32.6 m

(a) What is the minimum speed that the roller coaster must have in order to remain on the track at
the highest point of the vertical track?

01+ k0

O

FC = w

ryt^

x tb•3 = t5q•^

ta.L

One of the passengers on the roller coaster, Carla, has a mass of 49.4 kg.

(b) What reaction force does she experience when the roller coaster is moving at the lowest point
of the track with a speed of 18.3 ms-'?

P_ v\ u

I l^
S

(Z _ t. SO x t0
O

wilt be. '(Qa.±e.A

V\ LCkQ_-^ W NX C)_5

_ ^.1•r1A O

O

Vo"ve. l'?s5 ^(^sts^av^cQ w t^s

4 . (31t 1 1rc AY C'O t t S\ o Lt 1. W kc ^^nl C,tG.Q^(

End of Section One

[2 marks]

0

[3 marks]

ktgv\S^0-lV LLA is too Qrs^lCaev^

PS _ l0 5 MW

vs
vP

11^P

S
b S x 10 = US. '-^ = ' "oo x10 x I

41/10tQnn^lOAt £o-t 0., 1^"3 1C0,

3•oox>O'

c) Which coil wires should be thicker - the primary, or secondary? Explain why.

11^q^ ^ivlvroK e- i11 t-n \ Ca'(v^ kl^st [oV% QA [2 marks]

O C4-u' cP.vi^

[2 marks]

O

SEE NEXT PAGE SEE NEXT PAGE
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Section Two: Problem Solving [90 marks or 50 % of total]

Answer all SEVEN (7) questions in the spaces provided.

Question 16 (Total marks = 14)

A softball is hit at an angle from a point 1.0 m above the ground. The softball has an initial velocity of
19.5 ms' at an angle of 500 above the horizontal, as shown in the diagram below.

The ball is caught by an outfielder as it returns to a height of 1.0 m above the ground.

Ignore the effects of air resistance.

The orbit of Jupiter is known to be elliptical rather than circular . At Jupiter ' s closest point, it is
4.95 AU from the Sun and at its most distant point it is 5.46 AU from the Sun.

(c) Calculate the gravitational force of attraction between Jupiter and the Sun when Jupiter is most
distant from the Sun.

= G,41, x t•So

^22

JJ N = N` Cos &-

tol•s N.oSso
i'a,• 53 ms

[This diagram is not drawn to scale.] ,&s

(a) Calculate the time the ball takes to reach the outfielder.
v ex-k t ca l rr,&r O v

I = l ^k 0(q

= a.'K
S = 0

14-

5 = wt^ I Utz

Wsi V\
lq • S St^1 SO

t^k q^ mst

[3 marks]

o = I^• 9ot. -tk.•9t2
= I%4 •9k* = ' oS sec
0 ^ q

0

1Q.

II

0

0
[4 marks]

_II 3v `a^
b-lo'( xlo x •OL9 ><-to , 3tcl. x S•)7 xto

lot X to

a3
' .r1 Xto r

0

(d) Calculate the centripetal acceleration experienced by Jupiter in its orbit when it is most distant
from the Sun.

F

0

(b) How far from the batter is the outfielder when she catches the ball?

NN . t

= 1a 53x305

- 3^a m0

0

0

0-

[3 marks]

o-1

3 1`b x S a l.

It
^•IGx10

C,

0
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Question 18 [Total marks = 13]

The planet Jupiter orbits the Sun with a period of 4333 days. It has a mass 318 times that of the Earth
and a diameter 11.2 times larger than the diameter of the Earth.

(a) Calculate the period of Jupiter's orbit in seconds.

PQ'c\ork T q 333x `a4 x6o x1o

3 • ^ ^k x t o SQL

- 20 >s 1 o

[2 marks]

PHYSICS 3A SEMESTER 12013

(c) Calculate the maximum height above the ground reached by the ball as it travels to the
outfielder.

teal .0 QV\

vl - O

o., a $

-Z a
A) t l + `^ Q S

0

1 Q, S =

tq, •ggz'

tq - L,

u-,nofX1ycuV%n VLtuln±
C&Dv.v Oxo utzk

[3 marks]

0

(d) What is the direction of the net force acting on the ball at the highest point of the trajectory?

II

0

VeA ^tea, ll kl^ dotAv\wAXr s 0
[1 mark]

(b) Assuming Jupiter has a circular orbit with a radius of 5.2 AU (astronomical unit), calculate the
speed of Jupiter as it orbits the Sun.

Note : I AU = distance from the Earth to the Sun
II ll

R = S'2 x t S0 X10 PIN

2 qNS
'A3 -

nt = t^foxto 0
4 _)

3c ,\J _ t• 3t] >r 10 mS

R
II 30

1 °t °l x \ 0b•lri x\0 x

0

0

-I
Ar = t• \ x t0 frS

[4 marks]

SEE NEXT PAGE

(e) Does the ball have an acceleration of zero at the highest point of the trajectory? Explain.

Np AAAA, X0.11 Stt
L
ll ^LX L QX Xeli-, Q (2 mark]

0 (^ OWv1iWChCD^ 0.CC Q,IQ (O l\OV t7^ • $ VCS y

CLJ Q3 l 17 ^^(A V 1'^ ^./^ O
V I

(f) A tennis ball is now hit at the same height and with the same initial velocity as the softball in part
(a). The two balls are shown in the photograph below.

tennis ball
I

softball

State one difference between the balls and describe how it affects the force of air resistance.

fi2nv\\S ball has o^ ^tov^ln^( ut^0+tsz

tv\ k Q^ S•Qt^, Get'( ^f ¢_stS^o to CQ

0

0

UO-
Also SLLX a LO- oa`(,QSO.

tMaSS [2 marks]

SEE NEXT PAGE
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Il 4- t-0

t2.^ ^ ^rv\
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Question 17 [Total marks = 14]

The diagram below shows a small DC electric motor, powered by a battery through a split-ring
commutator.

The rectangular coil has sides KJ and LM of length 70.0 cm, and sides KL and JIM of length 40.0 cm.
The coil contains 4 turns of insulated wire.

With a current of 15.0 A passing through the coil, a maximum torque of 0.600 Nm was achieved.
B

' ) ( F x f

a) Does the coil rotate in the direction shown as A or in the direction shown as B (see diagram)?
Explain how you decided.

Xi RN `tul2_ -'o .rstv,J^, !L`Q rAtv2cttroin [2 marks]

o 4L`a, o-t (p-, o t± i U ov\ 7 K OI

c.Q- tS v p w oo'( dks C.to t t w t U Y o ^a±Q-
(\""

0

b) Calculate the magnitude and direction of the maximum force acting on side KJ of the coil.
[Remember : Torquer = 2 (F x r)]

L =

o• b oo

,Q_

`a >c X 0 ' z)-o

o - to t

O

f

[3 marks]

So I t
`3 x n 20

O
cLo ,l v, w oo( ck- s

SEE NEXT PAGE I
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c) Hence, calculate the strength of the magnetic field between the poles of the magnet.

Ee t• So = ^k x tS >< a•rfo 6

1• So 0
E x t5 x e7-10

3 5'1 x to -'

O

d) Why is the split-ring commutator an essential part of a DC electric motor?

I InQ. Pao v^ r(1 uk c O-'L w ,11

o^ e .A ' Q -\* ^tiow tv,

%- Ybtakto w

tL^..

c^ tl

[4 marks]

[2 marks]
Q^Q Q ^! S Q_ -}t &9-- 0^ 1 Q Lk- o . -.

0'( 'm Oa u..^t er 2u Q_X 0

v,(c s O\Gt VVq OV-\ St ckQS o {IND-

wtl^ J Q t^ ko fo^o^Q^ C^v^^^v^vnuS(^1Q

-\ Q. So rnQ1 &t'cec,ttow 0

e) Sketch a graph showing the magnitude and direction of the torque produced during one
complete rotation of the coil . Assume the coil starts perpendicular to the magnetic field.

[3 marks]

0

U
(D:5k'^ql

SEE NEXT PAGE
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